= a
N = 0l & AF & F Al A
20118 =204t LesIA s ~ NS
2H: DED
B BeE DE 02 £
ool HZnE 243 (Sl 2e)
- . SIENS =
SA-E . S(E) - MEAY - BES 0 & 24 e {imE=Eh
= 39,405,938 39,710,284 A 304,346
= 494,000
= 2,291,000
= 1,733,976
Al 34,886,962
Holst WE oA =4 32,618,418 34,052,124 A 1,433,706
= 494,000
< 1,733,976
Al 30,390,442
=zns g4dst 32,618,418 34,052,124 A 1,433,706
= 494,000
S 1,733,976
Al 30,390,442
HAZSAMY MRS 2,418,650 4,363,558 A 1,944,908
= 1,459,325
Al 959,325
307 2120l & 2,418,650 4,363,558 A 1,944,908
< 1,459,325
Al 959,325
09 2x=gAHEX= 2,418,650 4,363,558 A1,944,908
OANUH A HXted & BEMHE X 2,418,650
= 1,459,325
Al 959, 325
AMUHA BXd S48 H 256,991 109,786 147,205
S 27,651
Al 229,340
307 2120l & 256,991 109,786 147,205
= 27,651
Al 229,340
09 2x=HAHEX= 256,991 109,786 147,205
OAUHA HXd a8 256,991
= 27,651
Al 229,340
PEES =ABESGHSH) 3,000,000 4,393,080 21,393,080
307 2120l & 3,000,000 4,393,080 A 1,393,080
09 2+EAHAELS 3,000,000 4,393,080 A 1,393,080
OALIHA 2285 2B (5HYH) 3,000,000
AMUHA =FXE O - HXF HE X 120,000 0 120,000
307 GI12t0ld 120,000 0 120,000
09 2+HAHAEXS 120,000 0 120,000
OAUHA =2xHe O - HX HEXE 120,000
SHUH SEMY QAR BEI(HA HALEE) 22,535, 777 22,519,000 16,777
307 GIZ2toI A 22,535,777 22,519,000 16,777
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SN DED
HMH: Hels
ns

o9l HEDE 2 (=EREE))
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl Ak 04 Sl ko HRs2
09 2xHAHEX= 22,535,777 22,519,000 16,777
OS4+YUN REHY QNS BEZ(HA, Al
st=2) 22,535,777
DEUT HAHA T2 983,000 600,000 388,000
= 494,000
= 247,000
Al 247,000
402 212H X =01 & 988,000 600,000 388,000
= 494,000
= 247,000
Al 247,000
01 SI2tp=8 X 988,000 600,000 388,000
OUsSAN MaHA AHAY 988,000
= 494,000
= 247,000
Al 247,000
WsiZAN 2= 30,000 52,000 A22,000
201 LBt 3| 30,000 50,000 220,000
01 AtE22/Hl 30,000 50,000 220,000
OREIN 28 30,000
JHOIERAl BeHES At 400,000 300,000 100,000
307 S12t01& 400,000 300,000 100,000
09 2HAHAEXE3 400,000 300,000 100,000
QA BSHES At 400,000
Al CIXIE0IED] 43 X & 200,000 210,000 10,000
307 212t01& 200,000 210,000 A 10,000
09 2==HAHELS 200,000 210,000 210,000
OEAl CIXIE0IEHI X XA 200,000
A== 2F AUHA RSCs &48H 2,000,000 1,000,000 1,000,000
307 PI2HOIA 2,000,000 1,000,000 1,000,000
09 2xHAHEX= 2,000,000 1,000,000 1,000,000
OFZE - &= AUHA R3CUs cADH 2,000,000
ZOoHel A 2F 264,000 288,000 224,000
307 gI2told 264,000 288,000 224,000
02 QIZ+AAMEX 264,000 288,000 A24,000
OOl 2EA 2L 1,375,000 +160H <128 264,000
AMUHA T2t JAHA 28 405,000 0 405,000
201 et 405,000 0 405,000
01 AtE222|H] 405,000 0 405,000
OUMHA LX=Z 405,000
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M Wsu
Mo DEQIFMALTS
el wEotEAld2te] e d
S B (3H) - NEAY - BHAS Al OH &EIE =}
- == i o ) T Nrs == &= 04| AFOH S o
NSHTALE RS 5,022,000 3,778,000 1,244,000
2 2,291,000
Al 2,731,000
SoHE A& 2 el 5,022,000 3,778,000 1,244,000
= 2,291,000
Al 2,731,000
20l E579Y HE At 3,600,000 2,056,000 1,544,000
= 1,800,000
Al 1,800,000
401 AEHIZ 2OHb| 3,600,000 2,056,000 1,544,000
= 1,800,000
Al 1,800,000
01 Al&H| 3,600,000 2,048,600 1,551,400
O0E0IES2E M 3,600,000
= 1,800,000
Al 1,800,000
St XNEX ¢4 & 50,000 50,000 0
301 LEEAZ 50,000 50,000 0
12 JIEt2 432 50,000 50,000 0
O=o T DEADE X CIY
A 50,000
SAND M=z 29 10,000 10,000 0
201 Letgh| 10,000 10,000 0
01 AbR2t2lH| 10,000 10,000 0
OuUEMND] NzE! 29 10,000
SAA WEHH AEUE 29 80,000 80,000 0
307 QI2tol™ 80,000 80,000 0
05 oIzt &2 80,000 80,000 0
ONSALt WSt 2 80,000
SotE AlE &X 300,000 100,000 200,000
401 AIEHIZ R 300,000 100,000 200,000
01 Al&HI 297,840 100,000 197,840
OusSotd AlE 4&X 297,840
03 A&l 2,160 0 2,160
OunEotd Ald 4&Xl 2,160
gl0l2& CCTV XA 982,000 968,000 14,000
= 491,000
Al 491,000
401 AEHIZR2bI 982,000 968,000 14,000
& 491,000
Al 491,000
01 Al&HI 982,000 968,000 14,000
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M- (B H) - HEAY - B2 ol MEE Hn=2
== i o ) T Nr= == = 04| AFOH U=sa
OWHE0IES CCTV & XA 982,000
= 491,000
Al 491,000
HY2AHH (LS 65,520 67,060 A1,540
Jl2Zdbl(ns) 65,520 67,060 A1,540
Jl2Zdbl(ns) 65,520 67,060 A 1,540
201 LBt23| 39,220 40,160 A 940
01 AtS2t2ldl 29,220 30, 160 2940
oggt+=2Y| 11,200
odeold usiidMzad =2= [ &Y 4,800
@OHLHE M 80, 000& =30 2,400
@ZHItE NE 80,0003 =304 2,400
o= &l 6,720
odeold 22XL 24 M=
7,000& x100H *34] 2,100
OIUEAl MREJK 28 M2310=
1,000, 000& *371 At 3,000
OICIERAl MAIRIRS &N =5
70,0003 x20H 13| 1,400
02 =323l 10,000 10,000 0
0332= £ AMA 10,000
202 Ol 22,100 22,700 A 600
01 =LA bI 22,100 22,700 A600
QJI2g2FA0I 22,100
203 YR F&d| 4,200 4,200 0
04 2M2IERFEYI 4,200 4,200 0
ORNSIIRFAH 350,000& *12& 4,200
IS (s 1,700,000 1,813,100 A 113,100
HEHH K E (S ) 1,700,000 1,813,100 A 118,100
WESEESH dE2 1,700,000 1,813,100 A 118,100
701 JIEt3HEES 1,700,000 1,813,100 A 113,100
01 JIEt HEEZ 1,700,000 1,813,100 A 113,100
OWENBELEH HNES
17,000,000,000& *10/100 1,700,000
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